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EGX-02H 0.45 94 190 120 8 10
EGX-02L 0.35 74 180 108 8 10
EGX-03H 0.45 94 360 120 8 10
EGX-03L 0.35 74 330 108 8 10
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EGX-02H 0.45 17.8  11.7 3.1

EGX-02L 0.35 108 180 127 92.0 60.0 44.0 27.0 11.0 2.4 - - 74
EGX-03H 0.45 120 360 175 12.0 80.0 44.0 327 245 178 11.6 3.2 94
EGX-03L 0.35 108 330 152 110 64.0 50.0 26.7 115 3.6 == == 74
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EGX-02H 0.45 120 190 0.04 0.08 0.14 0.24 041 066 1.02 1.52 3.27
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EGX-03H 0.45 120 360 0.03 0.07 0.14 0.21 0.37 0.62 0.99 1.46 2.91 94

EGX-03L 0.35 108 330 0.03 0.05 0.10 0.18 0.36 0.56 0.87 - — 74
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